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1. Fill in the starting material, product or reagents for the following reactions.
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BONUS: Llst all the reactions you can think of nitriles:
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O OH NaOMe, MeOH o)

HgC/”\/kCH A ” HsCJ\/\CH

3
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i. Acidic or basic conditions: ji. Mechanism intermediates are: iii. Leaving groups are: iv. Name of this reaction:

[ Acidic [_|Positively charged or neutral [ ] Positively charged || Michael addition
Eaasic ENegatively charged or neutral |:| Neutral E‘Ewb (elimination)

‘KN@C)Q.*\'; \,.e [ ] Aldol condensation
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————;"—‘7 )\\./\ C)‘_k$
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O ®O H
AP,



5. Predict the product and answer the questions for each following reactions.

B
H3C..p g CH3

)’53(
0 > <
HO OH
§ CH; > )
pTsOH L oL
A Cc \ : \ \
i. Acidic or basic conditions: ii. Mechanism intermediates are:  iii. Nucleophile in the  jv. Leaving groups are: @

&Acidic JZ] Positively charged or neutral reaction: D A ,BT’ositively charged
|:]Basic D Negatively charged or neutral ﬁ B D Neutral 'S

[ lc

iv. Reaction is a:
7

[ ]Reduction ‘ z

[ ] oxidation What is the structure of pTsOH?
Senk< ’@

O
O

o

E.neither

b.
B
o Hs0* Me—NH, N C"\E
= \ [}
| . |MAE
mild aud
A
i. Acidic or basic conditions: echanism intermediates are: iii. Nucleophile in the iv. Leaving groups are:
Acidic Positively charged or neutral  reaction: []a ﬁ@ositively charged H @
[ ]Basic [ ] Negatively charged or neutral N B [] Neutral '5 O

H 7 H H_S U/CH}

N
H L)
y o )
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Just for fun (a challenge problem): s C @ K/\

6. Celestolide is a perfuming agent that can be synthesized in two steps from molecule 1. Provide mechanisms

for both transformations.

X
CHs  H.cC
HaC CHs CHs  pyc HsC” ~Cl  HiC ¥4 _CH;
H.C Hp80,  HiC CH;  ACl;  HsC
3 — HiC _—
OH
07 CHj,

H3C CH;
Molecule 1 Celestolide

Mechanism:




